Client: Sunday Times

Agency: Panelbase

Universe: 16+ resident in Scotland
Methodology: Online

Sample size: 1010

Fieldwork dates: 29 June - 01 July 2022

Weighting: All the results were weighted by age, sex, 2019 Westminster election, 2014 independence referendum and
country of birth.

Further enquiries: ivor.knox@panelbase.com



Base: 1,010 Total GenderXAge S4. SEG 2019 Westminster 2014 Independence Q6. How would you vote 2016 EU Referendum D3. Where were you
Referendum in response to the born?
question: Should
Scotland be an
1t country?
Male :Male 35: Male :Female:Female:Female| ABC1 : C2DE CON LAB Lib SNP [Ivoted:Ivoted: Idid Yes No Don’t |Remain: Leave : Did not| Englan : Scotlan: Other
16-34 54 55+ 16-34 ; 35-54 55+ Dem Yes No not know vote d
vote
Total 1010 149 159 175 149 168 204 449 561 207 153 78 371 370 457 183 449 446 78 579 265 166 91 838 81
(1010)| (128) (149)i (175) (169)i (178); (204)| (435): (575)| (184)i (175): (54)i (397)| (420)! (407)i (183)| (483)i (412)! (77)| (582)i (263): (165)| (109): (836); (65)
Q2. If another UK Parliamentary Election was held Base: All respondents 1010 138 164 180 140 173 209 443 567 207 153 78 371 370 457 183 447 447 78 578 267 165 91 837 82
tomorrow, how likely would you be to vote? (1010)| (128) (149)i (175) (169)i (178); (204)| (435)i (575)| (184)i (175)! (54) (397)| (420); (407)i (183)| (483)i (412) (77)| (582)i (263)i (165)| (109)i (836) (65)
1 - Certain Not To Vote 54| 9 8 13 4 13 5 15 38 1 2 0 5 9 17 28 13 17 4 13 12, 30 g 42 9|
5% 7%, 5% 7%, 3% 8% 2% 3% 7%)|..<1%, 1% ] 1% 2% 4% 5% 3%, 4% 5% 2% 4%:;:  18% 3%, 5% 1%
2 16 4 3 3 3 2 1 3 13 3 1 0 2 3 3 10 1 6 4 4 1 11 2 14 0|
2% 3%. 2% 2% 2% 1%;: <1%)| <1% 2% 1%;: <1% 0i <1%| <1%: <1% 5%)| . <1% 1% 5%]| <1%;: <1% 6% 3%. 2% 0]
3 13 2 2 1 3 1 5 3 10 5 0 0 1 2 8 3 2 7 B 4 4 5 0 11 2
1% 1% 1%;: <1% 2% . .<1% 2%)|...<1% 2% 2% ] 0: <1%| <1% 2%, 1%) . <1% 2% 4% . <1% 1% 3% 0 1% 2%,
4 9 3 0 0 4 2 0 4 4 0 2 0 1 3 1 5 6 1 2 3 1 5 0 9 0|
<1% 2% 1] [\] 3%;: <1% 0. <1%: <1% 0 2% 0i <1%| <1%: <1% 3% 1%;: <1% 2%]| <1%;: <1% 3% o 1% 0]
5 30 7 3 0 5 15 0 5 25| 0 B 2 6 13 8 9 15 6 9 12 4 13 2 25 4
3% 5%. 2% 0 3% 9% 0 1% 4% 0 2% 3%. 2% 4% 2%. 5% 3%. 1% 11% 2% 2%, 8% 2%. 3% 4%
6 26 10 1 1 5 8 1 9 17 5 3 0 10 13 7 6 15 8 2 15 2 9 1 22 4
3% 7%; . .<1%;: <1% 3% 5%; <1% 2% 3% 2% 2% 0 3% 4% 2% 3% 3% 2% 3% 3%;: <1% 6%| <1% 3% 5%
7 49 14 9 2 11 9 4 23 26 10 3 3 23 16 10 29 8 12 4 36 9
5% 10%. 5%:;:. . .<1%. 8%, 5%, 2% 5% 5% 5%, 2% 3%. 5%. 4%, 12% 5% 3%. 7%, 4%. 4% 1%,
8 80 16 18 1 12 17 17 37 43 17 11 6 36 37 7 39 23 18 2 71 8|
8% 11%: 11%;: <1% 8% 10% 8% 8% 8% 8%. 7% 7% 8% 8%. 9% 7% 9% 11% 2% 8% 9%
9 86| 6 15 10 20 17 17 38 47 13 21 8 34 42 6 48 27 11 8 72 6|
8% 5%. 9% 6%:..14% 10% 8% 9%, 8% 6%;: .14% 11% 8% 9%, 8%, 8% 10%. 7%, 9%. 9%, 7%,
10 - Certain To Vote 647 68 104 148 74 89 159 305 342 153 107 59 301 307 31 412 185 51 70 536 42
64%| 49%: 63%;: 82%;: 53%;: 51%;: 76% 74%;: 70%;: 76% 67%;: 69%;: 40%)| 71%;: 69%;: 31%]| 77%;: 64%;: 51%
Mean score 8.6] 7.8 8.7 9.0 8:4 8.0 9.3 9.2 9.2 CLT 8.9 8.9 7.5 9.1 9.0 6.3 9.1 8.6 7.9}
Q3. Who would you vote for if a UK Parliamentary Base: Likely Voters 813 90 137 160 105 122 192 380 433 183 139 73 371 386 45 498 235 678 55
Election took place tomorrow? (811) (83): (124) (50) (402): (355) (43)| (499): (232) (672) (44)
Conservative 129 8 16 6 4 121 0 45 77 105 8|
16% 9%:;..11% 8%. 1%;:  31% 1] 9%:..33%. 9% 19%: .15% 15%
Labour 173 22 37 11 26 133 10 106 54 13 12 148 13,
21%) 24%;: 27% 16%;: 21%;: 22% 23%;: 20% 13%;: 83% 14% 7%;: 34%;: 23%)| 21%;: 23% 17% 15%;: 22%;: 24%
Liberal Democrat 70 6 16 15 5 10 36 34| 14 4 42 7 55} 8 55} 14 1 B 54 7|
9%, 7%:;..12% 9%. 9%, 8% 8%, 3%: . 58% 2%;: 14% 17%)|..11% 6%. 1% 11% 8% 13%
SNP 340 49 54 54 135 205 3 10 2 306 18 15 27 294
42%/| 54%: 39%;: 34% 36%;: 47% 1% 7% 3% 83% 5%:;: 34% 33%;: .43%
Other 22 2 4 g = 0 10 13 5 2 1 il 11 0 7 14
3% 3%. 3% 2%, 3% ) 3%, 3% 3%. 1% 2% 3%. 3%, (1] 1% 3%:;:..10% 8%. 2% 2%,
Would not vote 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0|
1] 0 1] 0 0 1] 0 0 1] 0 1] 0 V] 1] o 0 1] 0 o 0 V] 1] o 1] 0]
Don’t Know/ Not sure 73 1 9 10 8 iz 27 39 34| 23 7 11 il 11 50 12 13 45 il 40 23 10 B 60 4
9%, 1% 6% 7%. 7% 14%;: 14% 10%, 8% 13%. 5% 15% 3% 3% 12%;: 11% 4%; . 12%:  25% 8% 10%: . .12% 11% 9% 8%
Prefer not to say 7 1 1 0 3 1 1 6 1 0 0 0 1 1 2 4 4 2 0 3 1 3 2 4 1]
<1% 1% <1% 0 2%;: <1%;: <1% 2%;: <1% o 1] 0 <1%]| <1%;: <1% 3% 1% <1% 0| <1%: <1% 3% 2% <1% 2%
Q3. Who would you vote for if a UK Parliamentary Base: Likely Voters Excluding Undecided 734 62 319 294 347 93 354 339 33 455 212 67 69 615 50
Election took place tomorrow? (736) (43); (340)| (332); (310)i (94)| (384); (312): (32)| (458): (210): (68)| (83); (613)i (40)|
Conservative 129 6 2 10 108 11 4 121 0 45 77 7 16 105 8|
18% 10%;:  <1% 3%;: .31%;: 12% 1%;:  36% 0 10% 22%;: 17%
Labour 173 11 9 30 127 16 26 133 10 106 12 148
24% 17%. 3% 10%;: 37% 17% 7%;: . .39%;: 31%)| 23% 17%: .24%
Liberal Democrat 70 42 7 8 55 7 7 55 8 55 9 54
9%, 68% 2% 3% 16%. 8% 2%;: 16%;: 23%)| 12% 6%. 2% 13%. 9% 14%
SNP 340 2 294 238 52 50 306 18 15 242 60 38
6% 6%: 42%;: 36%;: 64%: 53% 40%;: 51% 2% 8% 4%:;: 92% 1% 15% 4% 87% 5%;: 46% 3% 28%: 57%
Other 22 2 4 g B 0 6 10 13 5 2 i 6 8 ] 9 11 il 0 6 8 8
3% 3% 3% 2% 3% o 4% 3% 3% 3% 1% 2% 2% 3% 2%: 10% 3% 3% 1] 1% 4%;: 12%




Base: 1,010 Total GenderXAge S4. SEG 2019 Westminster 2014 Independence Q6. How would you vote 2016 EU Referendum D3. Where were you
Referendum in response to the born?
question: Should
Scotland be an
1t country?
Male :Male 35: Male :Female:Female:Female| ABC1 : C2DE CON LAB Lib SNP [Ivoted:Ivoted: Idid Yes No Don’t |Remain: Leave : Did not| Englan : Scotlan: Other
16-34 54 55+ 16-34 ; 35-54 55+ Dem Yes No not know vote d
vote
Total 1010 149 159 175 149 168 204 449 561 207 153 78 371 370 457 183 449 446 78 579 265 166 91 838 81
(1010)| (128) (149)i (175) (169)i (178); (204)| (435): (575)| (184)i (175): (54)i (397)| (420)! (407)i (183)| (483)i (412)! (77)| (582)i (263): (165)| (109): (836); (65)
Q5. If another Scottish independence referendum was | Base: All respondents 1010 149 159 175 149 168 204 449 561 207 153 78 371 370 457 183 449 446 78 579 265 166 91 838 81
held tomorrow, how likely would you be to vote? (1010)| (128) (149)i (175) (169)i (178); (204)| (435)i (575)| (184)i (175)! (54) (397)| (420); (407)i (183)| (483)i (412) (77)| (582)i (263)i (165)| (109)i (836) (65)
1 - Certain Not To Vote 34| 8 5 6 2 10 2 13 20 6 5 0 1 3 13 18 0 0 0 8 6 20 g 28 3]
3% 6% 3% 4% 1% 6% 1% 3% 4% 3% 3% 0: <1%| <1% 3%:;...10% ) 0 ) 1% 2%;: . 12% 4% 3% 4%,
2 11 1 2 2 3 2 1 2 9 0 0 0 2 1 2 8 1 3 4 4 0 7 0 11 0|
1%) <1% 1% 1% 2% 1%;: <1%)| <1% 2% 0 o 0i <1%| <1%: <1% 4%)] . <1%;: <1% 5%]| <1% o 4% o 1% o
3 6| 0 2 1 1 0 2 2 4 0 0 0 1 B 2 1 5 0 3 1 2 0 6 0
<1% 0 1%;: <1%;: <1% ] 1%)|..<1%:  <1% 0 ] 0: <1%]| <1%;: <1% 1%) . <1% 1% 0] . .<1%;: <1% 1% 0: <1% ]
4 6 2 1 0 2 0 0 5 1 1 0 0 1 ] 1 5 0 2 4 1 1 4 0 6 0|
<1% 2% <1% [\] 1% 0 0 1%;: <1%)] <1% o 0i <1% 0i <1% 3% 0: <1% 5%]| <1%;: <1% 3% 0i <1% o
5 33 4 4; 7 5 12 1 6 27 3 2 3 B 10 8 15 8 13 18 g 23 7
3% 3%. 2% 4%. 3% 7% .<1%. 1% 5% 2%, 1% 4%:;  <1% 3% 2%. 8%, 2% 3%, 11% 4%. 3% 8%,
6 21 6 1 1 5 6 2 8 13 1 5 0 6 8 8 5 10 3 5 1 18 3
2% 4%;: <1%;: <1% 3% 4% 1% 2% 2%| <1% 3% 0 2% 2% 2% 3% 2%;: <1% 3%)| <1% 2% 3%
7 37 13 6 g 5 7 4 13 24| 8 8 3 11 14 11 12 17 12 12 2 29 5|
4%, 9%. 4% 2%, 3% 4% 2% 3%, 4% 4%, 5% 4%. 3% 4% 2%. 7% 4%, 3%, 7%, 3%. 4% 6%,
8 59 12 4 2 19 16 7 29 30 9 4 1 18 28 14 17 31 20 17 3 48 8|
6% 8%. 3%;: <1%: 13% 9% 3% 6% 5% 4% 3% 1% 5% 7%, 3%. 9% 7%. 4% 10% 4%. 6%
9 57 7 12 7 9 12 8| 17 40 11 13 7 13 14 28 15 23 28 11 4 46
6% 5%. 8% 4%. 6% 7%. 4%, 4%, 7% 5%, 8% 8%. 4% 4% 6%. 8% 5%. 6%, 6% 4%. 5%
10 - Certain To Vote 745 95 122 147 99 103 176 354 392 168 117 64 314 291 368 86 359 359 70 74 623
74%| 64%: 77%;: 84%;: 67%;: 61%: 86%)| 79%;: 70%/| 81%: 76%;: 82%;: 85%)]| 79%: 80%: 47%)| 80%;: 81% 42%| 81%: 74%
Mean score 9.0 8.6 9.1 9.2 8.9 8.5 9.5 9.2 8.8 9:4 9.2 9.6 9.5 9.4 9.3 7.6 9.5 9.4 7.2 9.3 9.0
Q6. How would you vote in response to the question: |Base: Likely Voters 862 114 138 155 127 131 191 400 462 188 134 72 412
Should Scotland be an independent country?] (862)) (97): (129): (156): (143) (476)) (167): (152): (49) (445)
Yes 412 81 239 10 31 7 412
48% 63% 52%)| . 5%;.  24%; 10% 6 100%
No 407 40 205 176 95 56 34| 33 344 30 0
47% 31% 44%/| 94%: 71%;: 78% 10% 10%;: 84%;: 26% V]
Don't know 42 7 19 1 8 9 15 13 24 5 0
5% 5% 4%)| <1% 6% 13% 4% 4% 6% 4% 1]
Q6. How would you vote in response to the question: |Base: Likely Voters Excluding Undecided 820 108 131 186 126 412 407 '] 94 78 682
Should Scotland be an independent country?(] (821) (92): (124) (166): (143) (445): (376) (0) (91) (93): (679)
Yes 412 80 62 10 31 412 0 0 65 29 348
50%|..74%:;  47% 5%:..25% 11%;: 90%)] . 90% 11%: 73%)] 100% 0 (1] 69%)| 37%: .51%
No 407 28 69 176 95 56 34| 33 344 30 0 407 0 29 49 334
50%)| 26%;: 53% 95%;: 75%;: 89% 10% 10%;: 89%;: 27% 0: 100% 0| 45%;: 68%: 31%)| 63%: 49%;: 41%!




Base: 1,010 Total GenderXAge S4. SEG 2019 Westminster 2014 Independence Q6. How would you vote 2016 EU Referendum D3. Where were you

Referendum in response to the born?

question: Should
Scotland be an

1t country?
Male :Male 35: Male :Female:Female:Female| ABC1 : C2DE CON LAB Lib SNP [Ivoted:Ivoted: Idid Yes No Don’t |Remain: Leave : Did not| Englan : Scotlan: Other
16-34 54 55+ 16-34 ; 35-54 55+ Dem Yes No not know vote d d
vote
Total 1010 149 159 175 149 168 204 449 561 207 153 78 371 370 457 183 449 446 78 579 265 166 91 838 81

(1010)| (128): (149): (175): (169): (178): (204)| (435)i (575)| (184): (175) (54); (397)( (420): (407): (183)| (483): (412) (77)| (582); (263): (165)| (109): (836) (65)

Q7a. If another Scottish Parliamentary Election was Base: All respondents 1010 149 159 175 149 168 204 449 561 207 153 78 371 370 457 183 449 446 78 579 265 166 91 838 81
held tomorrow, how likely would you be to vote? (1010)| (128) (149)i (175) (169)i (178); (204)| (435)i (575)| (184)i (175)! (54) (397)| (420); (407)i (183)| (483)i (412) (77)| (582)i (263)i (165)| (109)i (836) (65)
1 - Certain Not To Vote 42 7 5 10 4; 12 B 10 32 3 2 0 B 8 15 19 5| 13 2 9 10, 23 g 36 3]
4% 5% 3% 6% 3% 7%, 2% 2% 6% 2% 1% 0: <1% 2% 3%:;...10% 1% 3% 2% 1% 4%: . 14% 3%, 4% 4%,
2 15 4 2 3 3 0 3 2 13 0 1 0 2 4 5 6 4 5 2 6 2 7 1 14 0|
1% 3%. 1% 2% 2% 0 1%) .<1% 2% 0i <1% 0i <1%| <1% 1% 3% <1% 1% 2% 1%;: <1% 4% 1% 2% 0]
3 10 1 4 0 2 2 1 5 5 0 0 0 4 3 2 5 4 5 1 3 1 6 1 8 1
<1%|  <1% 2% ] 1% 1%: <1% 1%;: <1% 0 ] ] 1%/ .. <1%;: <1% 3%). . .<1% 1% 1%)| <1%: <1% 4%) <1%;: <1% 1%
4 6 2 1 0 2 0 0 4 2 1 1 0 1 1 1 4 2 3 1 1 0 5 0 6 0|
<1% 2% <1% [\] 2% 0 0 <1%: <1%)]| <1%;: <1% 0i <1%| <1%: <1% 2%)]| <1%: <1% 1%) <1% o 3% 0i <1% 0]
5 31 7 3 2 7 10 2 7 24, 2 B 2 4 8 11 12 10, 8 12| 12 4 15 g 26 2
3% 5%. 2% 1% 5% 6% 1% 2% 4% 1% 2% 3%. 1% 2% 2%. 7% 2% 2% 15% 2% 2%, 9% 3%. 3% 3%,
6 30 7 1 0 11 7 3 10 20 5 4 0 6 12 9 8 14 7 7 17 3 10 0 23 6|
3% 5%;: <1% 0 8% 4% 1% 2% 4% 2% 3% 0 2% 3% 2% 5% 3% 2% 9% 3% 1% 6% o 3% 8%
7 45 14 9 2 6 11 3 24 21 8 6 6 12 17 16 12 19 18 8 26 6 12 3 36 6|
4%, 10%. 6% 1% 4%, 6% 1% 5% 4% 4%, 4% 7%. 3% 5% 4%, 6% 4%, 4%, 10%, 5% 2%, 7%, 4%. 4% 7%,
8 70 9 13 5 16 19 9 27 43 19 13 0 21 24 31 15 30 32 8 35 22 13 5 59 6|
7% 6%. 8% 3%;: 11% 11% 4% 6% 8% 9%. 8% 0 6% 6% 7% 8% 7% 7%, 11% 6% 8% 8% 5%. 7% 7%.
9 9 8 14 10 15 30 36 9 12 10 23 27 31 7 30 29 6 B5) 23 8 & 56 5|
5% 5%. 9%, 6% 7%, 7%, 6% 4%, 8% 13% 6% 7%. 7%. 4%, 7%. 7%, 8%, 6%. 9%. 5% 6%. 7% 6%,
10 - Certain To Vote 112 145 83 98 165 332 364 160 112 60 295 267 334 95 331 326 31 436 193 67 70 574 52
71%;: 83%: 56%;: 58%;: 81%/| 74%;: 65%)| 77%; 73%;: 76%;: 79%)| 72%;: 73%;: 52%]| 74%;: 73%;: 40%]| 75%;: 73%: 41%) 77%;: 69%: 64%
Mean score 8.9 9.1 8:4 8.4 9:4 9.1 8.5 9.3 9.3 CLT 9:4 9.1 9.0 7.6 9.2 9.0 7.7, 9.2 9.1 6.9 9.1 8.8 8.7]
Q7b. Likely Voters Base: Likely Voters 832 106 113 127 189 389 444 188 137 70 339 318 397 117 391 387 45 88 80 689 63
(832)| _ (91) (127); (133); (191)| (376): (456)| (167); (156): (48); (363) (422); (357); _(44)| (509 36). (87)|  (96): (685) (51)
Conservative 127 10 6 8 40 71 56 111 4 6 1 11 103 13 3 119 0 50 72 5 18 98 10
15% 10%. 5% 7%:..21% 18%;: .13%)  59%. 3% 8%:. .<1% 3%; .26%;: 11%)| <1%: 31% 0| .10%: 30% 5%)|..22%: 14% 17%;
Labour 170 24 23 23 34| 84 86 39 103 7 7 28 127 15 24 133 9 99 59 12 13 148 9
20%) .22% 21% 18% 18%| 22% 19%| 21%;: 75% 11% 2% 9%;: 32% 13% 6%: 34% 14% 16%: 21% 15%
Liberal Democrat 68 g 4 10 19 37 31 10 3 46 6 4 S 5 5 54 3 B 52 7|
8% 3%. 4% 8%: .10% 10% 7% 6%. 2%;:  65% 2% 1% 15%. 5% 1%;: 14% 0 3% 11% 8% 11%
SNP 355 58 65 61 62 145 210 5 13 1 299 250 53 52 316 21 18 250 63 41 24 311 20
43%)| 55% 57%: 48%;: 33%| 37%: 47%)|  3%;: 10%: 2%;: 88%)| 79%;: 13%: 44%| 81%: 5% 9 27%; 46%) 30 32%)
Green 25 6 2 0 6 Z 3 iz 8 0 3 1 9 6 6 12 i) 4 2 14 0 10 6 13 5|
3% 6%. 2% ] 6% 2%, 2% 4%, 2% 0 2% 2% 3% 2%, 2%;: .10% 5%;: <1%. 5%, 3%, 0: 12% 8%. 2% 8%
Other 14 1 2 3 1 1 6 4 10 3 1 0 6 6 3 5 6 6 2 4 7 3 3 9 1]
2% 1% 1% 2%;: <1%: <1% 3% 1% 2% 2%;: <1% 0 2% 2%;: <1% 4% 2% 2% 4%)| <1% 3% 3% 4%. 1% 2%,
Would not vote i 0 0 0 0 0 i 1 0 0 0 0 0 0 i 0 0 1 0 0 i 0 i 0 0|
<1% 0 (1] ] 0 0i <1%| <1% (1] 0 (1] 0 0 0i <1% 0 0: <1% (1] 0i <1% 1] 1%, 0 0|
Don’t Know/ Not sure 66 2 7 9 4 19 24| 26 41 20 8 9 9 11 44 12 13 48 5 33 23 10 6 51 9
8% 2% 5% 5% 4% 15% 13% 7% 9% 11% 6% 13% 3% 3% 11% 10% 3% 12% 12% 7% 9% 12% 8%. 7% 14%
Prefer not to say 7 1 i 0 = Z 0 4 3 0 2 0 i 2 i 4 5 2 i Bl 0 4 0 6 il
<1%| <1%: <1% '] 3% 2% 0 1%;: <1% 0 1% 0: <1%| <1%: <1% 3% 1%;: <1% 2%| <1% 1] 5% 0: <1% 2%
Q7b. Likely Voters Excluding Undecided Base: Likely Voters Excluding Undecided 758 103 125 149 105 105 164 358 400 168 127 61 329 305 351 102 373 337 74
(761) (145):  (42): (352)] (347); (312): (102)[ (404): (311) (72)
Conservative 127 4 6 i 11 103 13 3 119 5
17% 3% 9% . .<1% 3%;: .29%;: 13%)| <1%: 35% 6%
Labour 170 103 7 7 28 127 15 24 133 12
22% 81% 12% 2% 9%;: 36%. 14% 7%;: . 40% 16%
Liberal Democrat 68 5 46 6 4 59 5 5 54 3
9%, 2%;: 75%. 2% 1% 17%. 5% 1%;: 16% 4%
SNP 355 13 1 299 250 53 52 316 21 18 250 63 41
47%)| 56%: 44%;: 36%;: 61% 41%;: 52% 3%. 10% 2%;: 91%| 82% 15%;: 51%)]| 85% 6%;: 45%)]| 53%;: 30%;: 56%
Green 25 6 2 0 6 2 3 iz 8 0 3 i 9 6 6 12 19 4 2 14 0 10
3% 6%. 2% 0 6% 2% 2% 5% 2% 0 3% 2% 3% 2% 2%;: .12% 5% 1% 5%. 3%, 0: 14%
Other 14 1 2 3 1 1 6 4 10 3 1 6 6 3 5 6 6 2 4 7 3

2% 1% 1% 2%;: <1%: <1% 4%, 1% 2% 2%; <1% 2% 2%; <1% 5% 2% 2% 4%)| <1% 3% 4%

Would not vote

Don't Know/ Not sure

Prefer not to say

© oio oi® oio o

© oo oio o
© oio ocio o
© oo oio o
© o0 oio o
© oo ocio o
© oio oio o




Base: 1,010 Total GenderXAge S4. SEG 2019 Westminster 2014 Independence Q6. How would you vote 2016 EU Referendum D3. Where were you
Referendum in response to the born?
question: Should
Scotland be an
il 1t country?
Male :Male 35: Male :Female:Female:Female| ABC1 : C2DE CON LAB Lib SNP [Ivoted:Ivoted: Idid Yes No Don’t |Remain: Leave : Did not| Englan : Scotlan: Other
16-34 54 55+ 16-34 ; 35-54 55+ Dem Yes No not know vote d d
vote
Total 1010 149 159 175 149 168 204 449 561 207 153 78 371 370 457 183 449 446 78 579 265 166 91 838 81
(1010)| (128) (149)i (175) (169)i (178); (204)| (435): (575)| (184)i (175): (54)i (397)| (420)! (407)i (183)| (483)i (412)! (77)| (582)i (263): (165)| (109): (836); (65)
Q7c. Likely Voters Base: Likely Voters 832 106 113 127 389 444 188 137 70 339 318 397 117 391 387 45 506 238 88
(91) (127): (133) (422): (357) (44) (87)
Conservative 12 6 10 80 67 iz 6 15 il 10 120 16 5 136 1 66 74 6
11% 5% 8% 20%: 15%)| 62% 5%;: 21%: <1% 3%: 30%: 13% 1%: 35% 3%)| 13%: 31% 7%
Labour 24 29 23 81 85 26 100 18 33 114 20 38 115 10 98 51 17
23% 26% 18% 21% 19% 14%: 73% 8% 5% 10%: 29% 17% 10%: 30%: 22% 19%: 22% 19%
Liberal Democrat 5 11 36 28 14 37 52! 48 43 18
5%. 2% 9% 9% 6% 7%, 4%: 53% 2% 2% 13%. 5% 2%: 12% 17%. 9%. 8%. 3%
SNP 45 60 122 186 1 1 3 259 216 49 43 272 19 18 220 55 33
42% 53% 31%: 42%]| <1% 10% 5%;: 76%]| 68% 12%: 36%)]| 70% 5%: 38%)]| 44%;: 23%: 37%
Green 16 8 31 22 il 3 34| 28 8 16 43 6 35 15
15% 6% 2% 8% 8% 5%/ <1%. 2% 0: 10% 9% 2%: 14% 11% 2% 7%, 7%;: <1%: 17%
Other 0 4 9 1 6 16 6 1 0 10 12 7 3 10 11 0 7 14
0 3% 6%: <1% 2% 4% 3%;: <1% ] 3% 4% 2% 3% 3% 3% 1] 1% 6% 2%
Would not vote 0 0 1 1 0 1 0 0 0 0 i 0 0 1 0 0 i 0
0 0: <1% 0 <1% 0] .<1% ] ] 0 0; <1% 0 0: <1% ] 0 <1% ]
Don't Know/ Not sure 4 7 11 29 38 21 7 9 10 10 45 11 11 50 5 34 22 11 8 6|
3% 5% 7%. 4% 7% 8% 11% 5% 13% 3% 3% 11% 10% 3% 13% 11% 7% 9% 12% 10% 8% 10%
Prefer not to say 1 i 0 2 5 B 0 1 0 1 2 i 3 4 1 i 3 0 3 0 5 1
<1%: <1% ) 2% <1%: <1% 0: <1% 0: <1%| <1%: <1% 2% 1%: <1% 2%| <1% 1] 3% 0: <1% 2%
Q7c. Likely Voters Excluding Undecided Base: Likely Voters Excluding Undecided 759 102 126 146 106 109 165 356 403 165 129 61 328 306 350 103 375 335 75 73 631
(763) (87);.(118): (147): (120) (310) (74) (87): (631)
Conservative 146 12 23 53 6 136 6 17 118
19% 11%: 19%: 36% 6% 41% 8%) .24%; 19%
Labour 166 24 29 25 29 115 17 11 143
22%) 24%: 23% 17%: 27% 34% 23% 15%: 23%
Liberal Democrat 64 5 15 13 5 48 48
8% 5%;..12% 9%, 2%;..10%;: 11%| 10% 7% 8% 4%:;  60% 2% 2%; . 15%. 6% 2%:;:  14% 3%) .12% 8%; 13%
SNP 308 45 48 43 60 56 55 122 186 1 14 3 259 216 49 43 272 19 33 23 270 15
41%/| 44% 3 6 52%;: 33%| 34%: 46%)| <1% 11% 6%: 79%)| 71% 14%: 41%)| 72% 6% 44%)| 32%: 43% 7%
Green 3 16 8 4 9 6 7 Bl 22 1 B 0 34 28 8 16 43 6 15 8 37
7%)|...15%. 6% 2% 8% 6% 4% 9% 5%)]..<1%. 3% 0: . .10% 9% 2%;..15%] 12% 2% 20%)/| 11% 6%; . .14%
Other 22 0 4 9 1 2 6 6 16 6 1 0 10 12 7 3 10 11 0 7 14 2 5 16 1]
3% 0 3% 6%: <1% 2% 4% 2% 4% 4%;: <1% ] 3% 4% 2% 3% 3% 3% 1] 1% 6% 2% 6% 3% 2%,
Would not vote 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
] 0 [] ] 0 ] 0 0 ] 0 ] ] 0 ] 0 ] ] 0 ] ] ] ] 0 ]
Don't Know/ Not sure 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
] 0 1] ] 0 ] 0 ] ] 0 ] ] 0 ] 0 ] ] 0 1] ] 0 ] 0 ]
Prefer not to say 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
] (] ] (] ] (] ] (] ] (] ] (] ] ] ] ] ] ] ] ] ] ] 0 ]
Q7d. Regardless of whether you support or oppose Base: All respondents 1010 149 159 175 149 168 204 449 561 207 153 78 371 370 457 183 449 446 78 579 265 166 91 838 81
independence, which of these is closest to your view? (1010)| (128)i (149); (175)i (169)i (178) (204)| (435) (575)| (184)! (175)i (54); (397)| (420)i (407)i (183)| (483): (412)i (77)| (582)i (263): (165)| (109): (836): (65)
I believe Scotland is likely to become 336 68 64 54 57 140 196 iz 26 12 213 205 60 71 284 21 27| 213 64 59 23 282 31
independ ithin.th i al 33%)|..46% 43%;: 32%: 28%)| 31%; 35%)|  8%; 17%;: 15%: 57%)|.  55%; 13%; 39%)| 63%:  5%; 35%)| 37%:.  24% 34%
1 believe Scotland is likely to become 168 40 41 21 24| 83 85 15 28 10 79 82 43 43 108 45 12 103 29 140
independent but not for at least five to ten years 17%)...27%;: 17% 7%:;..28% 12% 12% 18% 15% 7%, 18% 13%;: 21%)]| 22% 9%: .23%] 24% 10% 16% 18% 11% 7%
1 believe Scotland is likely to become 78 8 13 12 10 9 26 31 47 11 16 15 21 18 52 8 18 52 7 48 21 10 6 69 4
8% 6%. 8% 7%. 7% 5%;:. .13% 7%, 8% 5%:;..10% 19%. 6% 5%, 11% 5% 4%;:  12% 8%, 8% 8%. 6% 7%. 8% 5%,
41 6 5 14 4 4 8 20 21 14 8 3 10 10 24 7 7 28 4 20 13 8 3 32 6|
4% 4%. 3% 8% 2% 3% 4%, 4% 4% 7% 5% 4% 3% 3% 5% 4% 2% 6% 6% 4% 5% 5% 3%. 4% 8%
I don't believe Scotland is likely to become 290 19 56 83 21 45 65 145 146 130 59 B 23 B5} 223 32 13 255 8 146 118 27 g5 234 22|
independent at any point in the next few
decades 29% 13%: 35%: 48%: 14%: 27%: 32%| 32%: 26%| 63%: 39%: 43% 6% 9%: 49%: 18% 3%: 57% 11%| 25%: 45%: 16%| 39%: 28%: 27%
Don't know 97 7 12 11 9 35 23 31 66 20 17 5 26 20 54 22 19 44 19 50 20 27 9 82 6|
10% 5% 8% 6% 6%: 21% 11% 7% 12% 9% 11% 7% 7% 6% 12% 12% 4% 10%;: 25% 9% 8% 16% 10%: 10% 8%




Base: 1,010 Total GenderXAge S4. SEG 2019 Westminster 2014 Independence Q6. How would you vote 2016 EU Referendum D3. Where were you
Referendum in response to the born?
question: Should
Scotland be an
1t country?
Male :Male 35: Male :Female:Female:Female| ABC1 : C2DE CON LAB Lib SNP [Ivoted:Ivoted: Idid Yes No Don’t |Remain: Leave : Did not| Englan : Scotlan: Other
16-34 54 55+ 16-34 ; 35-54 55+ Dem Yes No not know vote d
vote
Total 1010 149 159 175 149 168 204 449 561 207 153 78 371 370 457 183 449 446 78 579 265 166 91 838 81
(1010)| (128) (149)i (175) (169)i (178); (204)| (435): (575)| (184)i (175): (54)i (397)| (420)! (407)i (183)| (483)i (412)! (77)| (582)i (263): (165)| (109): (836); (65)
Q9. Nicola Sturgeon has proposed this week that a Base: All respondents 1010 149 159 175 149 168 204 449 561 207 153 78 371 370 457 183 449 446 78 579 265 166 91 838 81
second Scottish independence referendum should take (1010)| (128) (149)i (175) (169)i (178); (204)| (435)i (575)| (184)i (175)! (54) (397)| (420); (407)i (183)| (483)i (412) (77)| (582)i (263)i (165)| (109)i (836) (65)
place in October 2023, using the same wording as the
2014 referendum. She has written to Boris Johnson to |Boris Johnson/ the UK Government will agree 114 30 9 6 26 20 20 51 63 10 18 a4 59 62 29 23 5] 28 7 69 20! 25 B} 101 10
seek agreement for this referendum to take place. that this referendum may take place 11%)  20% 6% 4%: 17% 12%: 10% 11%: 11% 5%: 11% 5%: 16% 17% 6%: 13% 7%. 6% 9%)| 12% 8%: 15% 3%: 12% 129%
Which of the following outcomes do you think is most |Boris Johnson/ the UK Government will refuse to 770 93 135 161 98 119 160 358 411 189 126 68 265 259 398 112 307 389 53 454 222 93 78 632 59
likely? agree that this referendum may take place 76%| 62%: 85%;: 92%;: 66%;: 71%;: 78%)| 80%;: 73%]| 91%;: 82%: 87%;: 71%)]| 70%;: 87%;: 61%)| 68%;: 87%;: 68%]| 78%;: 84%;: 56%),| 86%: 75%: 72%
126 26 15 7 25 29 24, 40 87 8 10 6 47 49 30 48 66 29 18| 56 23 48 10, 104 13
13%)| 18% 9% 4%;: 17%;: 17%;: 12% 9%;: 15% 4% 7% 8%;: 13%)| 13% 6%: 26%)| 15% 6%;: 23%)| 10% 9%: 29%)| 11%: 12%;: 16%
Q9a Regardless of how you answered the previous Base: 984 144 154 171 144 206 149 78 358 354 452 178 433 440
question on what you think is likely to happen, which (982)| (124); (144); (171): (163) (183) (170): (54): (383)| (402): (402): (178)| (466): (405)
of the following do you think should happen? Boris Johnson/ the UK Government should agree 455 88 72 63 88 22 45 15 285 280 76 99 382 43
e 46%)| 61%: 47%};: 37%: .61% 11%;: 30% 19%. 0%)|...79% 17%:..56%)]..88%;: 10%
should refuse: 422 40 69 104 37 177 89 55 44 47 338 37 28 363
s referendum may tal 43%)| 28%: 45%: 61%. 26% 86%; 60%;: 70%; 12%| 13%; 75%: 21%)| 6% 83%
Don't know/ Prefer not to say 107 16 13 4 20 7 15 8 29 27 38 42 23 34
11% 11% 9% 2%;: 14% 3%;: 10% 11% 8% 8% 8%: 23% 5% 8%
Q10. A case is being brought to the UK Supreme Base: All respondents 1010 149 159 175 149 168 204 449 561 207 153 78 371 370 457 183 449 446 78 579 265 166 91 838 81
Court to confirm whether or not the Scottish (1010)| (128) (149): (175): (169)i (178): (204)| (435): (575)| (184)i (175): (54)i (397)| (420): (407): (183)| (483): (412)! (77)| (582)i (263): (165)| (109): (836); (65)
Government has the legal power to hold a referendum
even without the agreement of the UK Government. | The UK Supreme Court will rule that the Scottish 329 66 3 B8 63 61 49 143 186 30 39 14 184 180 86! 63 287 69 19 213 63 54 26 279 24
Which of the following outcomes do you think is most |Government does have the power to hold a
likely? referendum without the agreement of the UK 33%| 44%; 33%; 19%: 42%;: 36%; 24%| 32% 33%)| 15%; 25% 18%: 50%| 49%: 19%: 34%| 53% 16%: 24%)| 37% 24%: 32%)| 29%: 33% 30%
Government
The UK Supreme Court will rule that the Scottish 489 49 86 124 58 68 103 235 254 158 91 56 112 120 311 57 119 328 25 273 171 45 47 406 36
Government does not have the power to hold a
referendum without the agreement of the UK 48%| 33%;: 54%;: 71%: 39%: 40%: 50%| 52%;: 45%| 76%: 59%: 72%: 30%| 32%; 68%: 31%| 27%: 74%;: 33%)| 47%; 65%: 27%| 51%: 48%;: 45%
Government
Don't know/ Prefer not to say 192 34 20 18 28 39 52 72 120 18 23 8 75 70 59 63 93 49 34 94 31 67 18 153 21
19%)| 23%: 12% 0%: 19%: 24%;: 25% 16%: 21% 9%: 15% 11%: 20% 19% 13%: 34%)]| 21% 1%;: 43% 6% 12%: 40% 0%: 18%;: 25%
Q11. Do you personally support or oppose holding a Base: All respondents 1010 149 159 175 149 168 204 449 561 207 153 78 371 370 457 183 449 446 78 579 838
referendum on independence in October 2023? (1010)| (128) (149)i (175); (169)i (178): (204)| (435)i (575)| (184)i (175) (54)i (397)| (420) (407)i (183)| (483)! (412)i (77)| (582) (836)
5 - Strongly support 317 67 48 49 60 44 47 131 186 11 20 1 234 223 B2 62 305 7 4 211 261
31% 23%)|..29%: 33% 5%:;:..13% 1%;: .63%)|  60% 7%:...34%)] . .68% 1% 5%)]..37% 31%
4 - Somewhat support 114 24 17 8 22 26 14 50 63 4 16 6 62 69 23 21 90 12 12 74 100
11% 16%;: 11% 4%: 15% 15% 7% 11% 11% 2% 11% 8% 17% 19% 5%;: 11%] 20% 3% 16%)| 13% 12%
3 - Neither support nor oppose 97 20 11 20 20 16| 38 59 6 20 6 33 33 26 38 35 25 26 40 81
10%)  14% 7% 5%:;:..14%;: 12% 8% 8%;: 11% 3%; .13% 7%, 9% 9% 6% 21% 8% 6%;: 34% 7% 10%;: 10%
2 - Somewhat oppose 85 7 18 8 14 18 19 45 40 15 15 11 17 12 53 20 10 55 18] 53 67 9|
8% 5%;: 11% 5%;: 10% 10% 9% 10% 7% 7% 10% 14% 4% 3% 12%: 11% 2%;: 12%: 23% 9% 8% 11%
1 - Strongly oppose 362 18 60 101 26 53 104 171 191 170 80 51 21 27 310 25 3 340 3 186 302 19|
36%)|. 12%;: 37%;: 58%;: 17%;: 31%;: 51%)| 38%;: 34%)|  82%: 52%: 65% 6% 7%); 68%;: 14%)]| <1%: 76% 4% .32% 36%: .23%
Don't know 35 11 5 0 7 8 1 2 4 5 6 13 16 6 8 14 14 27 6|
3% 8% 3% ] 5% 5% <1% 1% 5% 1% 2% 3% 9% 1% 2% 19% 2% 3% 8%
NET Support (4-5) 431 91 65 57 82 70 15 36 7 295 292 56 83 394 18 16, 286 361 39
43%)| . 61%;: 41%;: 32%;: 55%: 42% 7%;..24% 9% 80%)] 79%);: 12%. 8 4% 43%
NET Oppose (1-2) 447 26 78 109 40 70 185 95 62 38 39 363 45 13 395 21 239 369 27|
44% 27%; 42% 89%;: 62%;: 79% 10% 11%;: 79%:  25% 3%;: 89%: 27%]| 41% 44%;: 33%
Mean score 2.9 £a5 2.9 1.4 2.2 1.6 4.3 4.2 il-7/ 3.5 Sis) 1.4 2.9 3.1 2.9 3.3




Base: 1,010 Total GenderXAge S4. SEG 2019 Westminster 2014 Independence Q6. How would you vote 2016 EU Referendum D3. Where were you
Referendum in response to the born?
question: Should
Scotland be an
1t country?
Male :Male 35: Male :Female:Female:Female| ABC1 : C2DE CON LAB Lib SNP [Ivoted:Ivoted: Idid Yes No Don’t |Remain: Leave : Did not| Englan : Scotlan: Other
16-34 54 55+ 16-34 ; 35-54 55+ Dem Yes No not know vote d
vote
Total 1010 149 159 175 149 168 204 449 561 207 153 78 371 370 457 183 449 446 78 579 265 166 91 838 81
(1010)| (128) (149)i (175) (169)i (178); (204)| (435): (575)| (184)i (175): (54)i (397)| (420)! (407)i (183)| (483)i (412)! (77)| (582)i (263): (165)| (109): (836); (65)
Q13. Nicola Sturgeon has said that if the UK Base: Likely Voters (based on earlier 813 90 137 160 105 122 139 73 331 305 399 109 371 386 45
Government and Supreme Court both ruled against standard "GE tomorrow") (811) (83): (124): (156): (126): (125) (157) (353)
the holding of this referendum, the SNP would treat Conservative 135 7 17 2
the next UK General Election as a de facto 17% 8%;: .13% 2%
independence vote, with the party standing on the Labour 170 21 37 108
single issue of independence. 21%)| 23%: 27% 78%
Liberal Democrat 59 5 12 <)
If the SNP’s manifesto pledge at the next UK General 7% 6% 8% 2%
Election was that they would treat their party SNP 340 51 58 16
receiving over 50% of the total votes cast as a vote in 42%)| 57%: 4204 120
favour of independence, how do you think you would [other 23 0 4 1
vote in that election? 3% ) 3% <1%
Would not vote 10 1 1 0
1% 2%;: <1% 1]
Don't Know/ Not sure 72 4 9 9
9% 5% 6% 6%
Prefer not to say 4 0 0 0
<1% ] ] [\]
Q13. Nicola Sturgeon has said that if the UK Base: Likely Voters Excluding Undecided 727 84 128 148 96 102 166 340 387 159 130
Government and Supreme Court both ruled against (729)
the holding of this referendum, the SNP would treat  [Conservative 135
the next UK General Election as a de facto 19%
independence vote, with the party standing on the Labour 170
single issue of independence. 23%
Liberal Democrat 59
If the SNP’s manifesto pledge at the next UK General 8%
Election was that they would treat their party SNP 340
receiving over 50% of the total votes cast as a vote in 47%
favour of independence, how do you think you would [other 23
vote in that election? 3%




